# Multiplying with Scientific Notation

Name:

Solve each problem. Answer in scientific notation.

D (6x10°) x (3.3x10%) 2) (5.43x10™) x (6.1x10%

4) (3x10°%) x (6.04x10°)

3 (1.6x10% x (1.12x10%

6) (1.97x10") x (9.57x10)

5 (1.1x10°%) x (3.6x10")

8) (4.1x10") x (1.6x10™)

) (8.1x10°) x (8.8x10°%)

9) (8.14x10") x (6.58x10°) 10) (3.48x10") x (1.24x10%)

Answers

10.
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Multiplying with Scientific Notation

Name: Answer Key

Solve each problem. Answer in scientific notation.

1)

3)

5)

7)

9)

(6x10°) x (3.3x10%)
(6x3.3) x (10°x10°%)
19.8 x 10°
1.98 x 10°

(1.6x10°%) x (1.12x10%
(1.6x1.12) x (10°x10%)
1.792 x 10*
1.792 x 10*

(1.1x10°) x (3.6x10")
(1.1x3.6) x (10°x10")
3.96 x 10*
3.96 x 10*

(8.1x10°) x (8.8x10°)
(8.1x8.8) x (10°x10°)
71.28 x 10*
7.128 x 10"

(8.14x10") x (6.58x10°)
(8.14x6.58) x (10"x10°)
53.5612 x 10*2
5.35612 x 10"

2)

4)

6)

8)

10)

(5.43x10™°) x (6.1x10%
(5.43%6.1) x (10'°x10%
33.123 x 10™
3.3123 x 10™

(3x10%) x (6.04x10%)
(3x6.04) x (10°x10%)
18.12 x 10"
1.812 x 10*

(1.97x10") x (9.57x10")
(1.97x9.57) x (10"x10")
18.8529 x 10™
1.88529 x 10%°

(4.1x10'%) x (1.6x100)
(4.1x1.6) x (10"°%x10™%)
6.56 x 10%°
6.56 x 10%°

(3.48x10) x (1.24x10™°)
(3.48x1.24) x (10'x10™0)
4.3152 x 10"
4.3152 x 10"

Answers

1.98 x 10°

3.3123 x 107

1.792 x 10%

1.812 x 10%

3.96 x 10%

1.88529 x 10°

7.128 x 107

6.56 x 10°°

5.35612 x 103

10.

4.3152 x 10%’
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